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Q1

A cylinder weighing (70 N) is suspended from a spring hook, causing
the spring to extend (0.05 m) as shown in the Figure below.
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Q2

and B are traveling toward each other

A-Two triangular wave pulses A
on a stretched string, each pulse at speed 2.0 cm/s, as shown in the
Figure (), at £ = 0s. 5 in Figure (b) the shape of the l
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B- Look at Figures (1) and (2) and then complete the table shown below.
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Fill the blanks in the following table to:

o Determine the wave type (in first row).

o Identify each physical quantity (wave length, wave amplitude), using
appropriate letters @, by B example ef...etc- as shown in the figure

(in second and third rows).
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Q3

4 glfice the wasssee o= =
nt made of verﬂcally stacked glass cups was called |
jca. The prlnciple of generaﬁng musical tones is

through friction between the player’s fingers and the edges of the
crystal cups. Look at the Figure, and answer the questions that follow:
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o The length of the air column in the case of resonance is given by

1
( = ;nl). In the Figure, would n be an odd or even number?

Explain your answer.
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B. When two glasses are placed very close to each other, and you moved
your finger along the rim of one cup to produce a tone, you noticed
that the same tone is produced in the other cup.

son be called? What is the condition for this
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identical metal spheres A and B repel

Two similarly and equally charged . :
each other with a force (2.0 X 105 N), as shown in Figure (a). A third

identical uncharged sphere C is touched to A and then placed at tI.m mid-
point between A and B. as shown in Figure (b). Answer the following

(Show your work in details):
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the answer from part A, in this part
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Q5

A- Perhaps you have seep 4 gasoline
truck trailing a metal chaip beneath
it.

Explain this based op

your lmnwlulgt-
about conductors and

insulators.
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by using detectors of water waves at three
Figure below. Determine in which
uf the following physical quantities is
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